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SECTION -1 : General Awareness I - 1 : AGIS MRNTSH (WH AT

Ql India has resorted to form of Q1
government as opposed  to
presidential form of government,
whereby each head of the government
must render its accountability.

(A) Timocracy
(B) Monarchy
(C) Parliamentary

(D)  Aristocracy

Q2 In which year were the Official Q2
Language Rules framed under the

provisions of section 8(1) of the

Official Languages Act, 1963?

(A) 1975
(B) 1976
(C) 1977
(D) 1978

Q3  Which Article of constitution of India Q3
contains provisions of* the

Fundamental Duties?

(A) 49
(B) 45
(C) SIA
(D) 50

g93 & IHSIUST AAS YEH T

fdu Re Agag @ __ qu ©
IS fonr 3, fn &8 Agag © JI3d
He & winuEt HerEEdr S U=

(A) fengst

(B) I3

(c) Hmed

(D) YI&3I3d

fan 7 &9 0 fagag3s e & Wae,
1963 © AIHS 8(1) © feost © 3fa3

0 faargs I fewnd f3nrg J8?
(A) 1975

(B) 1976

(c) 1977

(D) 1978

I3t Afenrs <t fagdt oo K9 Hisa
29T T feUs AHS I57

(A) 49

(B) 45

(C) SIA

(D) 50

ﬁ
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Q4"

Q5

Q6

Q7

ﬁ

The procedure for impeachment of (4

the Presidentisa  process.
(A) judicial

(B) legislative

(C) executive

(D)  quasi-judicial

Which among the following is an Q5
ascetic sect of Punjab founded by
Baba Sri Chand?

(A) Nirmala
(B)  Nirankari
(C) Khalsa
(D) Udasi

Diamond is made of which element? Q6
(A) Oxygen

(B) Carbon

(C) Hydrogen

(D) Nitrogen

The Indian Federal System is Q7
borrowed from which of the
following countries?

(A) TheUS

(B) Australia

(C)  Switzerland

(D) Canada

PAPER-5 SERIES-EB

IrcIySt © fuse Hater o yfdfanr
___ batarged I

(A)  fonres

(B) feuas

(C) grgndat

(D) 03JT-forte

Jot REf3wmfes fagz gr=r 7jf o =t
T FEMU3 Si3T famir UAe T i
(A) feavsr

(B) fodardt

(C) YA

(D) G

Jigr far I3 T afer Jer

(A)  WIAHAS

(B) dJg6

(c) TS

(D) BEIAS

er 3 0'Itarg i3t ardt J7

(A) OHIET

(B) WHIEMI

(c) wiReaIdz

(D) A&

[4]



Q8  Which festival is also celebrated to Q8 faggzr €3n< iy uaH ST ¥sA

mark the birth of the Khalsa in 76 ©f fonsedt I9s g @
Sikhism? HaTfemr Fer J?

(A) Hola Mohalla | (A) IS HIS

(B)  Lohri (B) I

(C)  Gurupurab (C) dJgys=

(D) Baisakhi : (D) fermdt

Q9  Who among the following is not Q9 fegst & d= U™ T AU A3 &3

associated with Sufi music of Punjab? AEO3 &t J?

(A) Baba Farid ' (A) == ode
(B) Baba Sehgal (B) = HAIJIS
(C) Bulleh Shah (c) 879

(D)  Shah Hussain , (D) WIIAG

Q10 Who built the famous Moti Bagh Q10 Umarg f&g fans yfig A3t g1 18A

Palace in Punjab? gerfanr?

(A) Maharaja Duleep Singh’ (A)  HIIT sy iy
(B) Maharaja Narinder Singh (B) HIIT afded fHy
(C) Maharaja Ranjit Singh (C) HIITH I3 fHY
(D)  Sir Ganga Ram | (D) HI I IH

R RAARBrRrRrRrRReeeeeem—m—m—m/// /]
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Q11

Q12

Q13

Ql4

Which among the following is not an Q11 fag* &9 faoz A3 73 © TIINaIs

Arthropoda from Animal kingdom

classification?
(A)  Silkworm
(B) Honey bee
(C) Kingcrab
(D) Earthworm

Where is the Sri Harmandir. Sahib Q12

Gurudwara located?
(A) Amritsar

(B) Ludhiana

(C) Patiala

(D) Bhatinda

3 WIEIUZ™ &t I?
(A) IEH AT
(B) WO Wt

(c) fdarg=

(D) 33

0t gfgvieg Afog T Joewa &8

AfE3 37

(A) OfiEAT
(B) Bfmrer
(c) ufewsr
(D) =fé3T

The mineral that is NOT often Q13 €9 fdgz ufeq I 7 Haas® T K9

present in mineral water is
(A) calcium

(B) magnesium

(C) potassium

(D)  tritium

Hoe &dt ger?
(A) dBHOH
(B) AISIHIDH
(c) UTHIDH
(D) <A

Baba Ram Singh was the leader of Q14 =& Iy fHY fgr Bfgg € &3" AG?

which movement?

(A) Singh Sabha movement
(B) Nirankari movement
(C) Radha Soami movement

(D) Kuka movement

(A)
(B)
(C)
(D)

iy A Bfgg
fsdardt Bfag
o Mt Bfag
ECURISE]
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Q15 Which of the following centrally Q15

Q16

Q17

sponsored schemes is implemented in

Punjab for
horticulture?
(A) MIDH
(B) KUPY
(C) PMRF
(D) NDRF

Which cropping refers to growing of Q16
only one crop on the same piece of

land year after year?

(A) Catch cropping
(B) Mixed cropping
(C) Relay cropping

(D) Monocropping

Who killed General Dyer in England?
(A) Sardar Udham Singh

(B) Kartar Singh Sarabha

(C) Baba Gurdit Singh

(D)  Sardar Balwant Singh

development

Uy ST g9get © fedr s I8
AUHI S Bree S S
IEMTTS?

(A)  MIDH
(B) KUPY
(C) PMRF
(D) NDRF

fagdt il s It 93 R A6 =3

75 ffg It ens GarGe T ge g il
J?

(A)  ag Jfifar

(8) famz gfilar

(c) fa&qfifar

(D) NS

T e §3rfanr?

(A) AITI Gu fiy
(B) I3g fAw AII"
(c) g9 gafes fiw

(D) HAITJI =3 fHY

#
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Q18 Jnanpith award 2020 was conferred Q18 famredts YIAIT ‘2020

on poet Akkitham. <t LICEL
(Akkitham) & fE37 fami

(A) Malayalam
(A)  HEWEH

B Tel

(B) clugu (B) 5

(C) Tamil (c) 3

(D) Kannada (D) d&F

Q19 Which former Textiles Minister Q19 fqg@ A=ar JUzk™ H3dt & I3

inaugurated the 8" edition of India W3ITHSI IAH NS © Wse HASIE
International Silk Fair? T Gewres Ji3m?

(A)  Smriti Irani (A)  AfE 8Tt

(B)  Nirmala Sitharaman (B) f&IHS A3 IHS

(C) Ramesh Pokhriyal (C) INA NHfoNs

(D)  Amit Shah (D) wWH3 A9

Q20 In which year, Chandrayaan-2 Q20 fHHAs TEdus-2 I3 AS B9 37

mission was launched? famyr w2

(A) 2018 (A) 2018
(B) 2019 (B) 2019
(© 2020 (C) 2020
(D) 2017 (D) 2017

————————————————————
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Q21 Under which scheme, youth will act Q21 fom wrHs © 33 &< UAy &9
as catalyst to curb drug addiction oH T 83 § JaT © BE g3yIa © 39
from Punjab? ‘3 IH II&AI?

(A) Aajeevika Grameen Express (A) OFffear apite amA Bee
(B) Uag yEt s9€ OA IH€

Yojana

(B) Punjab Pani Bachao' Paise

HltH
Kamao Scheme
(C)  Aashirwad Scheme (C) DFHITE HAH
WD) Fugas Budly .« Dl (D)  UrAr" S FI9 H3H PITH

Eradication Program

Q22 Which Union Territory borders Q22 ydA= & AJdE €39 &g fei &g

Punjab on the North? g2 ded AA3S Yer o8 &diet J7
(A) Daman and Diu | (A) THa O3 fe@

(B) Jammu and Kashmir | (B) #HOD3Tmg

(C)  Delhi (c) f&t

(D) Ladakh | (D) e

Q23 As per Census 2011, which .of the Q23 2011 & HISHEHII 0GAT U= ©

following districts of Punjab has the faaz AR < AoHfimr 79 3 Sa I
highest population? ) gk Y
(A) Hoshiarpur
: (B) Hfé3T
(B) Bathinda
(C) Ludhiana | (C) Bftmre
(D) Jalandhar (D) ABTI

————————————————————— e ——
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Q24

Q25

Q26

Human blood has all of the folowing Q24 W& By &g Iz W A § &3

components, except:

(A) Blue blood cells
(B) Red blood cells
(C)  White Blood cells

(D) Platelets

Which of the following panchayat

systems did the Ashok Mehta

Committee recommend?

(A) Single-tier panchayat system
(B)  Two-tier panchayat system
(C)  Three-tier panchayat syétem

(D) Four-tier panchayat system

The first municipal corporation in

India was set up in:
(A) Madras

(B) Bombay
(C) Calcutta

(D)  Lucknow

Q25

Q26

3 gl ATQ WS ge I6?
(A) BBIAIE

(B) TBIAIE

(C) WREIaAIT BIAS

(D) UBcBeH

03 HiIT A & oo R faadt
s et & firgan A9t A

(A) fEg-Uodt dorfest yerdt
(B) T-udt ez YTl
(c) f3a-vndt dorfes yerdt

(D) TI-Uudt Ugfes yeat

gg3 &g ufgs &9 &I

feg FEU3 37 fomi A
(A) HEIH

(8) ==

(C) dBA3"

(D) B8

————————————————————————
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Q27 What is the outfit for men while Q27 IIF &9 (JU) II& AX WeHMWTZE

performing Bhangra dance form? IECECUER Y

(A) Kurta and Lehenga | (A)  FF3T 03 3fdar
(B) Lungi and Shirt (B) ®It03IHH
(C)  Lungi and Jugi (c) ZIro3 gt

(D)  Lungi and T-Shirt (D) égﬂ' N diage

Q28 Who was the first Defence Minister Q28 393 € ufgd It 133t 3 7w, 7

of India, who belongs from Punjab? UAe 578 HEU Jue AG?
(A)  Giani Zail Singh | (A)  famat 3 fiw
(B) Beant Singh (B) =03 fHY

(C) Manmohan Singh (C) Hongs fity

(D) Baldev Singh : (D) =BT< iy

Q29 Who is the Speaker of Punjab Q29 #® 2021 &g Uny feus AT ©
Legislative Assembly in the year mieg T I67?

202172
(A) 0Afeg iy &

(A)  Ajaib Singh Bhatti

(B)  Capt. Amarinder Singh (B) aucs nHidET fiw

(C)  V.P.Singh Badnore (C) =t iy seg

(D) Rana Kanwar Pal Singh’ (D)  gre deg us fihy

%

w
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Q30 Who founded Patiala Riyasati Dal? Q30

Q31

Q32

(A). Sewa Singh Thikariwala
(B)  Kartar Singh Sarabha
(C) Bhai Laxman Singh

(D) Lala Lajpat Rai

Which Sikh Guru, fourth of the 10 (31

gurus, founded the city of Amritsar?
(A)  Guru Nanak Dev

(B)  Guru Har Rai Sahib

(C)  Guru Arjan Dev

(D)  Guru Ram Das

Which programming language listed Q32
below is currently most corﬁmonly

used in the field of Data Science?

A) C++
(B) JAVA
€ C

(D)  Python

Yfewsr fonrst €8 & 7aus faad
A3t

(A) AT Ay Stadiesr
(B) dI3g iy AIS
(C) 3ot saHE iy

(D) BT IHUI I

it © 10 JIwmfed fam 98 39 &
0'fi{3AT Aigd & AEUwT ST

(A) HIIeoa e H
(B) HIIg Ifg ¢ Afos At
(C) HIJoIAGTI A

(D) FHIIIHTHA

Jat geET Yariier B9en oo fagst
TIINS e fefamirs 839 &g AT 3
2g Quuar i3t A 97

(A) C++

(B) JAVA

(G} €

(D) YUEES

e
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Q33

Q34

Q35

The World Environment Day is Q33

celebrated on

(A) 1 May

(B) 10 July
(C) 5 June
(D) 2 February

Which of the following is the Q34

smallest river of Punjab?

(A) Beas
(B) Satlyj
(C) Ravi
(D) Chenab

Which of the following canal is in Q35

Punjab?

(A) Gandak canal
(B)  Kosi canal
(C)  Son canal
(D)  Sirhind canal

feAe T3<ds foer

HofeT Jier J|

(fo; D

(A) 1 HS

(B) 10 g®Er

(C) 5d6

(D) 2 gJ<It

Js fefsmmfes fagz Uag © A9 3
g efgnr I?

(A)
(B)
(C)

(D)

J?

(A) I3 Bfag
(B) o &fIg
(C) w&BfIg
(D) wIfde afgg

PAPER-5 SERIES-EB
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SECTION -2 : Quantitative Aptitude and

Numerical Skills

Q36 The frequency polygon given here Q36

represents data obtained from a
grouped frequency distribution giving
test scores of examinees.

Test Scores
45 ~
40 -

Y

w W
& &
S D

25 A
20
15
10 4

5 -

Frequenc

hd T T T T T R
445 545 645 745 845 945 1045
Scores

Which class interval has the fewest

examinees?
(A) 44.5-54.5
(B) 54.5-64.5

(C) 44.5-64.5

(D) 49.5-595

Q37 A shopkeeper earns a profit Qf 17% Q37

on selling an article at 10% discount
on the printed price. What is the ratio
of the cost price and the printed price

of the article?

(A) 13:10
(B) 10:13
() 1:3
(D) 3:1

II1-2: HIITIH WeI3™ w3
At 3Ha 969
Uifemirggmd &3 77 99 Yifemr o'
(test scores) ©f AHIHT HIHIS
(frequency) =5 3 yus D"aﬁ“i‘ﬂé

fogfuz st J1

Test Scores
45 -
40
35 4
> 30
25 4
20
15 A
10
5 4
0 L i T T T T T v
445 545 645 745 845 945 1045
Scores

Frequenc

fan =391 0395 8 A3 3 ue
Uifemirg et I&7?

(A)  LLS5-545

(B) 5LS5-6LS

(C) LLS5-6L5

(D) 49.5-59.5

ffq Tz ° 0fa3 ¥8 '3 10% 8¢ '3
g &8 B Tased 17% &I
FrEer JI TAZ © He ¥B 03 0'fe3

HB e 0aus st 97
(A) 13:10

(B) 10:13

(c) 1:3

(D)  3:1

e e B S e ————
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Q38  The bar graph shown here gives the data (38

of number of students passing out from
three different schools A, B and C over
the different academic years. Study the

bar graph and answer the questions.

600

2014-15 2015-16 2015-17 2017-18 2018-19

#5choolA |
@School B |
@schoolC |

What is the difference between the
passed students of school C in
academic year of 2016-17 and
students of School B in academic

year of 2014-15?

(A) 450
B) 250
(C) 200
(D) 100

fe3r famr g9 J9e 2 ¥y Ffena
S ST 36 2 4 Ags’ A, BO3C
% uyr JT =& fefewgdmm &
Aftmr & ©gRGer J| J9e T 0 fimls
3 03 Yrs T €39 el

P By R

400 -

i wSchool A |
+ i
300 wSchaol B |

|
#School € |
200

100

2014-15 2015-1% 2016-17 2017-18 2018-1%

fffcn s 7% 2016-17 Re Ag® Cc 03
féfena A 2014-15 9 AgS B &9
UH JT B fefenrgsmimer 039 st
J?

(A) 450
(B) - 250
(C)- 1200
(D) 100

B S
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Q39

Q40

A lent % 1,500 to Ram for 3 yearsand Q39 A, IH & 3 A'S' &8I ¥ 1,500 03 AH

% 1,200 to Shyam for 2 years and
received from both T 600 as simple

interest. The rate of interest is:

(A) 5%
B) 10%
C) 7%
D) 15%

Answer the questions from 48 to 50 Q40

with the help of given frequency
polygon:- |
(X axis Number of

workers, Y axis represents number of

represents

products manufactured)

800 700

700 600 &

600 N\ 58
500 +——— 450/ \
y

400 + /
200 +———

100

10 20 30 40 50

What is the range of the workers
which give the highest production?

(A) 200 to 600
(B) 500 to 1000
(C) 400 to 1000
(D) 400 to 800

& 2 A BE 2 1,200 féer I 03 o
3 AO9s fowd & 2 600 YUz

gger J| fowd eg I
(A) S%
(B) 10%
(C).. %
(D) 15%

f&3 J® gdg93 5gsA © 099 ‘3
L8 3 50 3 YHa' T §33 fel:-

(X It IIHTSMITRT Hftmr EgAGe!
3, Y gt fsafis E3uret & Hftpr
TIAEE )

800 00

700 00—

600 o 500
500 w0, i
400 x:

/
300 200
‘200 /

Qs

100
0 . ; . r
10 20 “39‘ 40 50
73 3 <g Uved T T8 SIHIIMT
T HIH (range) J?

(A) 200 3 600
(B) 500 31000
(c) 400 31000

(D) 400 3 800

ﬁ
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Q41 A sum of money invested on Q41 fig Uasgw AUIS fowd ‘3 fo<m

simple interest amounts to T 620 in 996 ‘33 AS Rg 2 620 I 03
3 years and to ¥ 690 in 5 years. 5 A& €9 2 690 J IEh 8T eI
The sum invested is: fefast 37

(A) %550 : (A) %550

B) 2410 (B) 2T 410

(C) Z585 (C) 3585

(D) %515 (D} 2515

Q42 Find the value of x if Q42 x T HE Y3 &J, nSI

x[-5{-2(-a)}] + x[-5{=2 (—a)}] +
7[-3 {(~7)(-a)}] = 10a 7[-3{(~=7)(~a)}] = 10a I
@A) = W =
’ 10
(B) Iab ' (B) %
10
156 ) T
© ~= 2 »
157 _1_
(D) ——1? 0

Q43 0.753%0.753+2x0.753x0.247+0.247x0.247 Q43 0.753%0.753+2%0.753%0.247+0.247%0.247
) 0.541%0.541+2X%0.541x0.459+0.459%0.459 0.541X0.541+2%0.541x0.459+0.459x0.459 —
is equal to:
2 g959 J|
A 1
(A) 1
B) -l
(B) -1
< o0
(c) o
D) 2 (D) 2

ﬁ
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Q44 A and B can do a job together in 8 Q44

Q45

Q46

%

days. A is 1/4 times as efficient as B.
The same job can be done by A alone

in:

(A) 40 days
(B) 10 days
(C) 12 days
(D) 20 days

Paresh, Rajan and Subham can build Q45
a wall in 6 days. Subham alone can
build the wall in 24 days. In how

many days can Paresh and Rajan

build half of the wall working
together?

(A) 8days

(B) 4 days

(C) Sdays

(D) 12 days

The average of the first 7 multi‘ples of Q46
4 is:

(A) 32
B) 112
©) 16
(D) 56

AD3 B ®  ffa sy § 8 fes™ KT
9 AJE I&I A, B 3 1/4 I IS I
&t an fidd A orgr fd& fest &9
3T 7 ASET I7?

Lo fes

10 fes

12 fea

20 fe&

(A)
(B)
(C)
(D)

I, IH6 03 g9 Ra du & 6 foa'
&g g AT I&| ¥IH fedsT fon dg
$ 2u foot R g A J1 uIH 03

0 oo & g Aee I67

(A) s8fes

(B) ufes

(c) sfes

(D) 12fed

L B Ufgd 7 e T WA3 fdat 37
(A} .- 32

(B) 112

(C) 16

(D) 56

—_——ﬁ
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Q47 The bar graph shown here gives the Q47 fS3™ fomr g9 Joe =4 2y ffena

data of number of students passing
out from three different schools A, B
and C over the different academic
years. Study the bar graph and answer

the questions.

500

- 400 -

| 30 # School B
i # School €
12004

1100 ¢

2014-15 2015-16

2016-17 2017-18 2018-19

For which of the following years is
the percentage rise/fall in passed

students, the maximum for school B?

(A)  2015-16
| (B) 2016-17

(C) 2017-18
" (D) 2018-19

"mschoolA |

Ao Qo S5 4 4 Ags’ A, BO3C
&g um Iz =¥ fefenwrgsmm &
Aftmr § TIAET J| I9E T 0 fimis
a3 03 YA T €39 e8|

@ School A
#School B |

#SchoolC |

201415 2015-16 2018-18

2017-18

2016-17

Jot 3 At &Y fag? 76 A9S B
T ur Je fefenrgamme Y3m3

T/ WeT 7S 3 0 A?
(A)  2015-16
(B) 2016-17
(C) 2017-18
(D) 2018-19

ﬁ
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Q48 What is the value of 0.5% of 5625? Q48 5625% 0.5% © HZ ot J?

(A) 28.125 » (A)  28.125
(B) 28125 (B) 281.25
(C)  56.25 (C) 56.25
D) 5625 | (D) 5625

Q49 What number is every non- Q49 IIF ODHI DE-WIISI THHEE &
terminating non-recurring decimal faa=t Afemr fagr Arer J7

called?

(A) YT A
(A) Whole number

(B) yYIsOd
(B) Integer i

(C)  UfInH Hftmr

(C) Rational number

(D) Irrational number (D)  DYfIAS Hfemr

Q50 What is the value of (=5.2)3+ Q50 (-5.2)3+(29)%+ (2.3)® T H& &

(2.9)° + (2.3)%? , 37

(A) —34.684 (A) -3L.68L
(B) - 104.052 (B) -104.052
(C) 34.684 (C) 3L.68L
(D)  104.052 (D)  104.052

M
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; 2 5 2 3
Q51  What should be added to 15  to get Q51 18 ¢ YU3 &I& B 15 & f<g ot

Q52

18 2

A) 33
(B) 3%
(©) 2%
(D) 2-2—

When 47742 is divided by 146, we Q52

get the quotient as 327. What will be
the quotient if 47.742 is divided by
0.0146?

(A) 3270
(B) 327
(C) 327
D) 327

PAPER-5 SERIES-EB

Afanr Frer gdier 97
(A) 33
(B) 32
(€) 23
(D) 2¢

AT L7742 § w6 &8 391 3T AT
3, 3t 7S 327 IIMS Yu3 JT' I
I fdar I/, AT u7.762 &
0.0146 &% FJ1 f&37 Aer I?

(A) 3270
(B) .-32¢

(C)- -3¢
(D) 3.27



Q53 Six years ago, the average age of a Q53 & A® Ufgst, 5 Hagd' € ufgeg &

Q54

family of 5 members was 32 years.
During this period, a baby is born in
the family. Even now, the average
age of the family is the same as it was
6 years ago. What is the age of the
baby?

(A) 3years
(B) 2 years
(C) 4years
(D) 5 years

A shopkeeper bought two chairs for %
4,200. He sold one chair with 8%
profit and the other at a loss of 9.5%.
In the whole transaction, he ﬁeither
lost nor gained. What is the cost price

of the chair which was sold at loss?

(A) 22,100
(B) 2,280
(C) 1,920
(D) 2,000

Q54

A3 €13 32 73 " o A 2975,
Ufgeg &g ffg 99 & 7aH fanrm ge,
ufgerg & WAz 81g g3t I3 it feg
6 A'S Ufgs™ Al 59 ©f G1a a8t 372

(A} 3 S

(B) 2WHS

(C) uLAS

(D) S5HE

g gaIeed & ¥ 4,200 ©WO T
FIrAMmmySEmT 87S B gart 8%
9 &% 03 THt 9.5% TS &8 <
Y3 Ae e, g & 3* g I &
H TS OF IIAT T BES UG off Ht 7

IS 3 2t I A2
(A) Z2,100
(B) %2,280
(C) 21,920
(D) %2,000

—————ﬁ
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Q55  Divide % 2,500 among A, B, C inthe Q55 %2500 & A, B, Cfegarg20:12:18

ratio 20 : 12 : 18. T oau3 fRg 3

(A) 21,000 :Z 600 : Z 900 (A) %1,000:% 600 :% 900
(B) 21,000 :% 700 :% 800 (B) ¥1,000:%700:Z%800
(C) Z950:%700:%850 (C) ¥950:%700:%850

(D) %900 :%750:% 850 (D) ¥ 900:%750:%850
SECTION - 3 : Mental Ability and 391 - 3 : HaTHA THIET W3 399 BasT

Logical Reasoning

Q56 In this question, three statements Q56 fm Yyms €9, 36 F@a 3 gne <

have been given followed by two fife #Aftmr | 03 Aftpr 1| 1S3 I TSI
conclusions numbered 1 and II. Ius" f&g &3t At Feaadt & AY
Assuming that all information in the Hoe J2 =2 fiffewmn o fg;fﬁswm
statements are true, analyse the two ferdms a9 03 fogufas a9 fa o<t
conclusions together and determine &S fagz fifler agst g &3 o
whether any of them logically and Jearat Ot 399 A3 03 farfos 39
definitely  follow(s) from the 3 U =g 3

information given in the statements. TS

Statement : I a9 giet, efgwr Is|

I: Some lakes are rivers. | m 3 Tfgwr, 381 IS

II: Some rivers are ponds. - ;(8 IS, HITASIS I

III:  Some ponds are oceans. fifer ?

Conclusion : i I 380, SIS I&|

ke Some ponds are lakes. I It St 38T, $IS &It Il

II:  No ponds are lake. , (A) 3es fifer | uge ST I

(A) OnlyI follows (B) aes fifer | yge age J

(B)  Only II follows (c) w3 fifeT 7l UsE ager I
(C)  EitherI or II follows (D) & 3 fHer | & It 1| UBer dg"
(D)  Neither I nor II follows 3

.#
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Q57 Select the option figure that will Q57 €w feasy n{rfélj’[ ST AT RIS
replace the question mark (?) in the &5t npﬁ{j} T &g YAs fga (?)
following figure series. T 7S ‘2 wedh

(C)

g
@
| (B) @ | (B)
®
@

®O006

(D)
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Q58  Select the option that can replace the Q58 €9 feasy g& o yras e (?) &
question mark (?) and complete the g 03 S I39 33 S
given figure series. YT Jd AT I

|AH KX 7 A& X 2

B o,

(A) (A)
Q) Q)

(B) (B)
< &)

©) ()
(X

(D) @ | (D)
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Q59  Which letter will replace the question (59 23t Jret B3t €9 UAS fg§ (?) St
g ‘3 faggT 0Hg Wdr?

mark (?) in the given series?

V,T,2.1,B
(A) O
(B) P
© Q
D) R

Q60  Select the letter-cluster that will come Q60

next in the given series

KFH, MHJ, OJL, QLN, ?

(A) RNP
(B) RMO
(C) SNP
(D) SMO

Q61  Select the letter-cluster that will come Q6]
in the place of the question mark (?)

in the following series.

FGNC, HIRH, IMVM, ?

(A) NRVZ
(B) LPZR
(C) LQZS
| (D) LPYS

VW 2L B
(A) O
(B}
(C) Q
(D) R

€7 0Ha-Ag & It &9, A &3t
JEt st €9 yis fds (?) S a3
WIRT?

KFH, MHJ, OJL, QLN, ?

(A) RNP
(B) RMO
(C) SNP
(D) SMO

€7 0'ug-Ag & I &<, A &3t
It Bt 9 yie fidp (7) S a3
WIET?

FGNC, HJRH, JMVM, ?

(A) NRVZ
(B) LPZR
(C) LQzs
(D) LPYS

M
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Q62 Find the missing term in the Q62

Qa

following letter series:

JK,QR,YZ,
(A) GH
(B) HI
€ 1
(D) Gl

If X + Y means X is the mother of Y; Q63

X + Y means X is the father of Y and
X x Y means X is the brother of Y
and X - Y means X is the sister of Y
which of the following means that Q

is the mother of T?

(A) P+Q-R+SxT

B) P+S+Q+R-T

(C) T-Q+R+SxP

(D) P+Q-Rx SxT

Jat fi&3t 0Ha Bt g U3 U U3T
3

JIG QRS

(A) GH

(B) HI

() 2

(D) Gl

AII X + YT OIH, X, Y T 1 I;
X:yeogEx yeusrdos
XxYSO0JE X, YSTITIO3

X -Y®T0JE X YT IEI 3 I
fefswfes farer ngg I fa Q, T &
HFI?

(A) P+Q-R+SxT

(B) P+S+Q+R-T

(C) " T-Q=R+8S.%xP

(D) P+Q-Rx SxT

e ————— e ——
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Q64 The following figure is folded to Q64 J&' &3t wifSt § & we g8 B

form a cube. Which representation of
the cube in the given option is correct

one?

6
6
5 4
(A)
2
1 6
(B)
4
3 2
(©)
3
1 2
(D)

Afsr famr 3 0R 3 fessy 5
wE T fogwr fegus AR I?

6
6
5 4
(A)
2
1 6
(B)
4
3 2
(C)
3
1 2
(D)

PAPER-5 SERIES-EB
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Q65 Select the number that will come next Q65 €7 HAftmr T I a3, 7 J&° &3t

in the following series. I fRgusdi g () ‘3w
13,18,25,30,37,42, 13, 18, 25, .30, 87, 42,

(A) 47 | (A) 47

B) 49 (B) 49

(C) 50 (C) 50

(D) 53 , (D). 83

Q66  Select the number that can replace the Q66 €T Hftmr g& 1 J& &3t B &g
question mark (?) in the following yAS fds (?) St 5" & Ad|

series.
16, 19, 25, 3L, 46, 7

16, 19, 25, 34, 46, ?

(A) 5l e
B) 6l (o
©) 60 (G, 0
(D) 64 | (D) 6k

Q67  Select the number that can replace the Q67 €I Hitmr & 7 J&° &3t B K9
question mark (?) in the following I{H?Sfﬂ?s (7)< 5 8 A

series.
25, 35, 59,103,173, 7

25, 35,59, 103, 173, ?

- (A) 265
(B) 268 R
©) 270 ) eEg
D) 275 - (D) 275

e —
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Q68 In a company, all employeyes are Q68 fan ISt ST, AEE I3 y3

Q69

required to complete a minimum

three types of training to get

permanent status.

REGULATION

PERSONAL
IMPACT

Based on the given diagram, how
many employees get permanent status

in the company?

(A) 334
(B) 251
(C) 280
(D) 347

f3s famit &t findsdt § yor 596
o 837 Jer I

ETHICS

REGULATION

Select the answer figure that can Q69 €I €339 fg3g TE A IJ&t &3

replace the question mark (?) in the

series given in the problem figure.

Problem Fig

LIEBEILYETE
A i B C D E
Wl S| & | =

S 1 2 3 4
(A) 1

(B) 2

(C) 3

(D) 4

Y3 FIT IS?

(A) 334

(B} &3]

(C) 280

(D) 3u7

mifimr f539 <o &3 54t @ yis
fds (?) S 7 F A |

Wa | 2 (| S|

A B C D E

Answer Fig,

W S| & |R
1 2 3 4
(A) 1
(B) 2
(c) 3
(D) &

PAPER-5 SERIES-EB
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Q70 G's rank from top of the class was Q70 7H3 RO G v AF® g 3 358703

35th and from the bottom of the class
was 14th. What will be K's rank from
top of the class if his rank from
bottom of the class is 23rd?

(A) 25
(B) 26
) 27
(D) 28

Q71 Which of the following answer figure

completes the series of the question

figure?
(A)
(B)
©)
[\
(D)

PAPER-5 SERIES-EB

Q71

It 3 1ue ;| A3 f9 K T AES

fidg 3 fda J=9r A9 I 3 GRer
AES 23 J7?

(A) 25

(B) 26

Gy =27

(D) 28

YAS Wit & &t § Yo gI<t 97

/N

e

.

(A)

(C)

(D)

D DO )0




Q72 Use the relations defined below to Q72

Q73

solve these question.

A = B means ‘A is the father of B’
A > B means ‘A is the sister of B’
A < B means ‘A is the wife of B’

A % B means ‘A is the mother of B’
A $ B means ‘A is the son of B’

What should come in place of the
question mark (?) to establish that A
is the brother of D? A$B%C ? D%E

(A) >
®B) $
€ <
D) =

A School bus driver starts from Q73

school and drives the bus 20 km
towards east and turns to the right
hand and drives 5 km. Then he drives
8 km after turning to his right side.
He then turns to his left and drive 5
km. Finally he turns to his right and
travels 12 km. How far is he from his

starting point and in which direption?
(A) 10 km, South

(B) 10 km, North

(C) 5 km, South

(D) 15 km, North

yfggfi3 Agar € <93 a3
A=BEO0IEIA BT
A>BTOIEI A BT I
A<BTOIEI A BT UISHY
A%BTOIEI A BHII
A$BTOIEI A BTUITY
ffg 30 99 B9 fa A, D T 3T I,
yrs fdg (7) & = €3 of wee
gdrer 3?2

A$B%C ? D%E

(A) >
(B) $
(C): - =
(B}~ =
ffa Ags €A T IJEIT AIB 3 HY

9 & YIg ¥ 20 km A THET I
03 A3 HZ & 5 km SA I&EE J|
f13 69 WU AA YA HZ & 8 km €A
ggger I g 8o wug ¥8 y3er I
03 5 km SH 9¥Ge J| WHdl 9
89 WU? AR H3T I 03 12 km ©F
3T Fger JI 8 wuEl gowrst
AfESt 2 Aegs Zo fddt eI 03 fan
fomr &g yzr J7

(A) 10 km, BHE

(B) 10 km, €39
(C) 5km,BHE
(D) 15 km, €39

e ——
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Q74

Q73

In this question, three statements Q74
have been given followed by two

conclusions numbered I and II
Assuming that all information in the
statement is true, analyse the two
conclusions together and determine
whether any of them logically and
follow(s) the

information given in the statement.

definitely from

Statement :

[: No tables are chairs.

i Some chairs are sofas.
II:  All sofas are beds.
Conclusion:

I) No bed is a table.

IT) Some chairs are beds.

(A) Only follows

(B)  Only II follows

(C) BothI and II follows

(D)  Neither I nor II follows

Find the missing term in the Q75

following letter series:

COL, FOL, IOF, LOC,

(A) MOO
(B) 00Z
(C) POQ
(D) COD

fer yrs 9, ¥ aus 3 gne ©
e #Hfepwr | 03 At 11 83 I I
Hee I8, ©< fifewn T fesfowm
femdwe 93 03 fogufas a3 fa o=
Aeardl € 394 A3 03 forAfgs 39
I UBE FITr I

IES

I Jet <t AT, JIA st Il

I % IIHWAD I&I

. "I A0, S IS

fHe.

1) g & udw, A &It

)  I9 IIAMPUSY TS

(A) =S fieT | Use daTr J

(B) d=s fier Il s o I

(c) TR I031IUsE I IS

(D) & 3 eI & I Il UgEr ST
3

Jat i3t 0Ha BT f9 JU3 UT U3"

a3

COL,:FOLIOF LOC, -

(A) MOO

(B) 00z

(C) PoQ

(D) coD

L ——————————
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SECTION-4 : Language Skills (Punjabi/ English) / 3731-4 : STHE € g&d (Ur=0 warSwn

Q76 ‘IS~ HET T Al 0'ISH 0 T Il
(A) Noise
(B) Noisy
(C) Noisome

(D) Noisily

Q77 Choose the most appropriate ANTONYM of the given word.
BENEFICIAL
(A) useful
(B)  helpful
(C)  harmful

(D)  careful

Q7£§ Read the following sentence and identify the part that has an error.
It is healthy / to eat / a bowl of fresh, green salad / than a packet of chips.
(A) Itis healthy
(B) toeat
(C)  abowl of fresh, green salad

(D) than a packet of chips

PAPER-5 SERIES-EB



Q79 Select the most appropriate SYNONYM of the given word.
SOLEMN
(A) splendid
(B) informal
(C) frivolous

(D)  serious

Q80 Select the grammatically correct sentence from the following options.
(A) Imetaman who knows your uncle.
(B)  Who knows your uncle I met a man.
(C)  Your uncle knows who I met a man.

(D) Ihave met a man knows your uncle who.

Read the following passage carefully and answer the given questions from Q 81 to

Q 8s.

' Years ago, when I was a young Assistant Professor at the Harvard Business school, I
thought the role of business schools was to develop future managers who knew all about the
various functions of business, to teach them how to define problems succinctly, analyse

these problems and identify alternatives in a clear, logical fashion and finally, to teach them

13

B R RRRRRRRRRRRRReeeeeeem—mm /]

PAPER-5 SERIES-EB [35]




to make an intelligent decision. My thinking gradually became tempered by living and
working outside the United States and by serving seven years as a college president. During
my presidency of Babson College, I added several additional traits or skills that I felt a
good manager must process.

One must have the ability to express oneself in a clear articulate fashion. Good oral
and written communication skills are absolutely essential, if one is to be an effective
manager. One must possess that intangible set of qualities called leadership skills. To be a
good leader, one must understand and be sensitive to people and be able to inspire them
towards the achievement of a common goal. Effective managers must be broad-minded
human beings who not only understand the world of business but also have a sense of the
culture, social, political, historical and (particularly today) the international aspects of life
and society. This suggests that exposure to the liberal arts and humanities should be a part
of évery manager’s education.

A good manager in today’s world must have courage and a strong sense of integrity.
He or she must know where to draw the line between the right and the wrong. That can be
agonisingly difficult. Drawing the line in a corporate setting sometimes involves having to
mal;e a choice between what appears to be conflicting ‘rights’. For example, if one is faced
with a decision about whether or not to close an ailing factory, whose interests should
prevail? Those of stock holders? Of employees? Of customers? Or those of the community

in which the factory is located? It’s a tough choice. And the typical manager faces many

other.

#
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But now I have left behind the cap and gown of a college president and put on the
hat of chief executive officer. As a result of my experience as a corporate CEO, my list of

desirable managerial traits has become still longer.

It now seems to me that what matters most in the majority of organisations is to have
reasonably intelligent, hardworking managers who have a sense of pride and loyalty
towards their organisation; who can get to the root of a problem and are inclined towards
actibn; who are decent human beings with a natural empathy and concern for people; who
possess humour, humility and common-sense; and who are able to drive it with a stick-to-it

attitude and patience in the accomplishment of a goal.

It is the ability to make positive things happen, that most distinguishes the successful
manager from the mediocre or unsuccessful one. It is far better to have dependable
managers who can make the right things happen in timely fashion than to have brilliant and

highly educated ones who can do excellent planning but not implementing.

Q81 According to the author what can be a difficult choice?
(A) to draw the line between right and wrong
(B)  to possess knowledge and skill
(C) to be a good leader and manager

(D) to satisfy oneself and others

e —
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Q82 What is the present position held by the author?
(A) College President
(B) Bank Manager
(C) Motivational Speaker

(D) CEO

Q83 What is the pre-requisite for developing the social, political, historical and

international aspects of life and society?

(A) Learning managerial skills

(B)  Exposure to liberal arts and humanities
(C) Developing analytical skills

(D) Inclination towards welfare programs

Q84 According to the author the role of business schools is to:
(A) develop skills
(B) develop a sense of integrity
(C)  develop future managers

(D) provide moral education

. —————————— B
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Q85 Find the word from the passage which means the same as ‘Attribute’.
(A) Exposure
(B) Essential
(C)  Trait

(D) Identity

Q86 ‘Exile’ HEE T AT A= 0 << Il

(A)  FHHIT
(B) O0A33<
(C) w<nd
(D) <H foas

Q87 Iz fefemmmrse 5 ¥ mee gEl

(A &
8) TE
(C) TNE
(D) 9T

Q88 WHI YA A'E &5 HYfU3 HI<T" ge|
(A) SIIAAE
(B) SHMWTEI T 3B & e
(c) fomsrder
(D) =T YAEr

ﬁ
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Q89 ‘IfFwEt TEE &g Ha ', DH'E YJ' |
(A) wOeE
(B) I

(C) SIrTT

(D) ZTr

Q90 ‘G = fifg 4F sy Iz, fox H=E gE
(A) TS
(B) 3T
(C) <A

(D) HTHTC

Wﬁ?mémmt@n@i{m?’t{%iaéeﬁﬁﬁ

i s AT @ 03 63 3 039 UFE U 99 B T5, 19 i 3% O S
yfegswmer meg 3, G 53 fifg &t wife T8ls Hor &8 7 gFemigs! 0H & a8 &
M 8 82, @aer 8Td [ Al wife-asis Ha< feg B9 Aae Il YI'36 HASD A3 936
He = It &f, 79 0936 3 0 TT3S © 091-HIT & 33 T

B3 & w3 HEY TWTHS YfedShet t fearA —arer J) fom & 713t © ue-
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feog QIEMTINT3® Unat €3 04a A3ETMTSY FE WA &t fan-&r-fan gu feg Afag
Jigs & waE IIe AU Il JE8-aT-dg ufduret A Ig-di3 fegt fegrat B G gl wEt
J, 3 BF-Tar (989) & YI-29dt uduTr few fo & 713t 2 935, 0935 03 17TI5
mzpw@waaéaﬁéam

Q91 BTN T AT fag TS YfeaIEt fear 9rer J |

(A)  UETEMT
(B) A HIT
(C) H&H EMm
(D) YA M

Q92 YI3& AAAT fFIF HE © 0'd1 AT 3I¢ IS ?

(A) 0OTY3ISHS
(B) 0OTY3IEHS
(C) T3IZIS

(D) U35, 093803 0TI3SHS

Q93 for 3T fAgdu I :

(A) IJE & 3T
(B) W& T THI®
(c) BIRMI w3
(D) YIFSAI

e —
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Q94  WEH TS YfeaSner AET A &% 7 gIer I ?
(A) O0HJHE AfSD 3T &8
(B) U&& ABII &S

(c) AR &

(D) WTe-TEE HES B

Q95 BIF-TI3 (Jadg) & fagdt uSugr feg fai <t 731 © U936, 1835 03 19936

HAIT ydie Ie I&7?
(A)  Ha=gdt

(B) &3z gu

(C) FeEJY

(D) HdII3H

SECTION-S :Digital Literacy and Awareness F1- 5 : FSAES ArHI3I 3 GICICCES

Q96 What is the full form of VDT? | Q96 VDT T UJ" &'H ot 37
(A)  Video Display Type (A) SFE f3Aud efey
(B)  Video Device Terminal (B) SIE f3=fen caias
(C)  Video Display Terminal () IANE AU cHias
(D)  Visual Display Type (D) fego® famud efey
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Q97 In Internet Explorer browser, you can Q97 fica&e Wanuddd geng &g, 3

see thumbnail view of all the open A9 4§ 29" T HESS fom oY Aee
tabs. For this purpose we should J| fer €27 B8 7S 28 OA SvE B8
select “ > option to view web : » fegsy & I agat gater
pages. Ji

(A) preview (A) Y@

(B) normal (B) &IHS

(C)  quick Tabs (c) gfeadgn

(D) favorites (D) O<fadtH

Q98 Which of the following pair of Q98 WWH@@H@%@HW—
storage device type — device is fgefom T fagz 73 At 37

correct?

. narsfed f3na — o793 f3ns
L Magnetic disk — Hard disk

. SUdes f3Ad —JEIST
II. Optical disk — DVD

(A)  fAge|
(A) OnlyI
(B) fHI= I
(B) OnlyII
t (c) 103 1<

(C) BothIandIl

(D) &I I
(D)  Neither I nor II
’m
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Q99 In MS Excel 2019, negative numbers Q99

can be displayedin
L parentheses

II. red

(A) Onlyl

(B)  OnlylII

(C) BothIandIl

(D)  Neither [ nor II

Q100 In MS Word 2019, which shortcut Q100

key is used to open find and replace
dialog box with replace tab active?
(A) Alt+H

(B) Cul+H

(C) Ctrl+R

(D) Alt+R

MS Excel 2019 f3g, fge3Ha
Aftmret_ @9 yeafiz I Aaemm
IS

. gdaet

. TSI
(A fAgel
(8) fAg=il
(c) 103ned

(D) &3S I

MS Word 2019 &9, fagdt macde dt

< =93 foudn I8 Wafee 58 13
03 JuBA TS TIH § 5P et
13t At 37
(A)  Alt+H
(B) Cti+H
(C) cu+R
(D) Alt+R

#
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Read the following instructions carefully:

35 Tad Jefest g fs 5738 ug:

1.

10.

11.

Out of the four answer options given for each question,
Candidate has to be darkened only one option as answer
on ‘the OMR Answer Sheet. The answer once marked can

not be changed.

The candidate should ensure that the OMR Answer Sheet
is not folded. The candidate should not make any stray
marks on the OMR Answer Sheet. The candidate must
not write the Roll No. at any other place except the

specified space in the OMR Answer Sheet.

The candidate needs to write correct and same Test
Booklet No. & Test Booklet Series in attendance sheet as
these are printed on Test Booklet.

Candidate needs to show his / her Admit Card whenever
it is demanded by the Invigilator. '
Candidate is not allowed to leave the seat/ test center
without taking special permission from Invigilator or
Cer;ter Superintendent.

The candidate is not allowed to leave the Test Hall
without signing on attendance sheet & handing over

OMR Answer Sheet to the Invigilator.

Use of Pencil/Electronic/Manual Calculator is prahibited.

The candidates Rules and

Regulations of the Recruitment Board with regard to

are governed by all

their conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations of

the Recruitment Board.

Candidate must return OMR Answer Sheet &‘Treasury
Copy to invigilator once after the Examination is
cor;\pleted, Candidate can only leave the Examination
Centre once after receiving the Candidate OMR copy

from Invigilator.

The Candidates are required to submit the Test
Booklet to the Invigilator after the exam.

Question Paper will be available on Recruitment Portal
for future references within 24 hours after last shift of

examination is completed.

He 3 a8 g8 unwfie ds 58 des B feasy § €33 & 33"
I J| o =9 ez i3 e €39 § sefenr &t 7 Aae|

Srrees § fog welidt ge@e Tdter 3 fa €339 Hie yit & IR
e § €39 fic 3 foue-Cte ad & foms &ff Zarge
gderl  fleee § §hiwg €39 Hie e fogoas w9y 3
fogre 9 a3 & wue 35 &89 a4l faye gdier

gade Aol By J=dt 7 2re gade 3 81 I8 I5|

foarars gnrer Hal e 3 fiese § T TuET 998 fewrgEr
I

fsggs # dTg © pudde 3 ferm witmr &2 fast, gt &
Siterg wuEt Hie Affemr deg odf 83 Hee/AeRl|

Erifesg § wust ISt Hie 3 gA3WE |3 fast w3 €33 Hie
388 e § M fiawst fifemr I8 3 w99 AE & wiomr &t
31

Vofirs/ fedadfss/ Nows dvgded o 293 396 & Hadl I

Yfemr o8 &8G9 @ wrgge © Hed e @iees Uae ufsn
I 993 @ A9 fomt w3 fefsmi wits J=dt wefo3s 21 @
A HHEW & I35t 293 @ fomdt w3 fefsmit wigrs fuerfenr
AT

Y ¥31 Ix 3 gmie, SfeTs wugt Shie €39 Hie,
e €239 & anft fsaes § TuR ader/adt| fsaes 98
Ofeeg & §xhnrg andt fise 3 gmie &t Srifeea iftmr I8
&3 Ae JI

10. Jfifemr 3 gwre Sriteeret § wrud 20T Hade fsaers 38 W

Fgeget IMI

11. fuzsh Yifemr filge @ e I 3 24 ufenr 2 wieg-nies 33t

Iges §3 3f&d gefent 8 YA U3s Qussa I

> mmmwmﬁaa@ammwawwﬁwwmwm|




